i

[ BEZE2hd /K



|_|
=
o
D
B
o

TR ) o w0 | 2R
X (B ) =X 1
1% i 2 X 1
PEAR =X 1
BRI BANVESLE mi-tREEE | 1
HEEE LN = 1
BRI WIESHEEY 6200 veahk]| KR 1
B /K it g $ 200 EREC =) 1
WERE s £ BRSOl i FE R S z\, 1
i K I L (EE TR E) =X 1
M =X 1
[ELEA R =X 1
KES—7 1 600V CE 5.55q-2c m 21.1
REr—7 L 600V CE 2sq—2c m 29.1
HEr—7 L CEE 2sq-10c m 21.1
HEr—7 L CEE 1.25sq—4c m 7.5
i —7 L CEE-S 2sq—2c m 21.1
Z O ER IE 5.5sq m 21.1
Z DM EMR IE 3.5sq m 29.1
R B A B 7\ 1
AR PE42 m 10.2
FEARE S PE28 m 10.2
EAE AN BAE 2\, 1
BATEEAR) = F L HEPRIE FEP50 m 10.1




TEHE

N

1>

Y|

D

m =

T 4 v | HH) | AE
| b4 I S5 o T
%4 T fE | FE Rl ARl B HAL sk | o
WG R = F LA #RM: FEP30 m 5.1
FEP /7.7 #RM: FEP50 1] 1
FEP 2507 HERIE FEP30 | 1
FEP ~L~T72 HERIE FEP50 1] 5
FEP ~L~T2 HERIE FEP30 1 1
IV T A SUS 200%200%200 wp 1] 5
AR FAAHE TR & 75%H200 3 1
Bk n TR 75 F 1
AR A 625 {E] 1
SUs#Y
e A $ 200 1L=170=30 /N 1
FCD#Y
R KIE ¢200 7.5k /N 1
SUS#L  L=100%100%300
WP T 200A%80A 7.5k /N 1
SUS#L 1=120 (156AY 7 Mst)
W FJEL A $200 7.5k N 1
77U BT.N.P/K ¢200 10k A 1
T HETFRE BT.N.P/K ¢200 7.5k A 5
TR BT.N.P/K ¢ 75 7.5k #H 2
A= I NARTFRS $ 200 KIE Hikihim HH. 1
SUSs#Y
o S R a A ¢ 200 1 2




o
it

{ER AN oo w0 | 2R
— I 2
BT A
Fem R A
g T N
R R A
Al 95 %5 20
RIS T A
BHEL 2V
AL z\
PR 1 10 T (8 z\
BRI T SR & AT
BRI A L {1 T
BERR T B R R 5 & AT
TR T & AT
EHTF S RE 5 T & AT
B
ELEER 2
B (B L)
AL fiF [H]
TPy R —iE H




H 10 X e HHALRE

T TS

-
%
;%31
4
e

a TTLE

D T & 05 b

T¥E RO

THHE TS

i

= 4 Bgitasn |aadicoy | WO | ERMMESH | B 0w | TEMEE| TS W | ERYER | L Jg %

e

R

SISOV SRR

4

FHEHERLHE W

(1. 1)




T — T 0077 TEEE W

- - 0T % | GHEREETTE TR

0T | & L 0007 RS

e o A - - 0T = hes REE
T AT T AT R )

A s

& % AL O O U M B I - M% M,_\E ﬁwm% T W oR |mw| o . %A W W oT
T SR g ST E T ) THESWEE BT

(9 /1)




0T LA Co @) e Bl 3K Wy B
0T Y THERNOZ R R CEE A
[N N N W 9 EREN 7 RN W 9 EREN 4
. " o o o | # SN | | BN | N | 5 I R RV " o W T
%
L A e AT S A T4 I P 2=

(9¢)

FHEHER L Mk

T ROW - BT



01 ¥ 00C 9 HWEW1 L=,
0 BY MG LX08 P HWEH <L C
M/d*N-19-SnS
0°G Y 3G L X 00G P HEWa oo
M/d*N-19-SnS
0T Y 0T X 002 @ WEMAAL L
M/dN-19-SnS
2L 0=1 01 7 (VST{64() 0Z1=T1 SE AW
(W) V002 (1§ "L X30T) Y003 S0Z-70£SNS
7C 0=1 0T ¥ 0%2 X 00T X 001=T1 SEL AW
02 "0="1 (1S "L) YO8 X Y003 S0Z-70€SNS
2L 0=1 01 ¥ 3G L X 002 P E1561
(W) 00% ¢ il %004
LT 0=1 01 ¥ 0CF0LT=1 ]
(wy 00z ¢ 00z ¢
0T 2] Gz P N A7 Y
0T g GLP NG
Nl
0T 57 H00Z X SL @ SV RO
(tek )
01 5 N E ] UGN
2L ik
[E)
o o | £\ || N || K . . «
& ) A E - — 7 5% 9 B R T8 = e | R Yk 87 % BT

CIReR RS A A (4 eI )

(9 7¢)

FITH

B Lt

TEMRF BT




0T T 00G @ TI6G8YE4
0°¢ E 0T X 003 TG ER AL
€70 I 00g ¢ S G
a0
& w e B T B L o o I R ) B S ! W % BT

CIReR RS A A (4 eI )
(9 /1)

FHEHER L Mk

A TEWET " HT




_10_

0% 2] 051 X 002 X 003 Y 4 REAL
sns
01 [E] 0€ didd SarRe i 2 ddd
0% 2] 05 ddd Yo L 2 ddd
01 2] 0€ didd SoaRe LAL 4 dAd
01 [E] 0G didI SaaRe LA2CL 4 ddd
TG e 08  ddd /AL L E R
ERR ]
T°0T s 0S5 ddd AL YE R
ERR ]
01 h AT NEEEE
Z 01 w 8% ad [EERERTE)
z 01 w 7 dd =R
01 h A EH =
T°6¢ W bSc ¢ Al [EFarEE)
T 1% e bSG°G 4l [EFREE
T1¢ w 5g - bSg S-4@) e
gL w 5% - BSGg T ddd B R
TTc w 50T- PSg 440 H e
v 2e B o — S HE [FE2E)
T°6¢ w 5z - bsg @ [FRTE)
2009
T1¢ w 57 - bSG G 1D BE | (H
2009
[NV N7 [N 7 NV N7 [N 7 N 7
P " i e H L] H +H H T el (N S S W BT
==
IR SR WV e ER % ¥ EFEW TS W1

(979)



_11_

ﬁ S0g o bSG ¢ dl e
G090 Bl 57 - bsg W BHWE| &7
ﬁ 2009
. " | £\ | W £\ | o | N || HM\ __“M It wow e o o W " u WoT
il S S d MR B L
B W e E B %4 FIEFEET N G LA Ee - L

(9.79)



[ (w) £ T TE AR S [ G i [ 12 m
() # | — A X m
570 570 7 Ve %,  WUNTTE| 1000
$T T2+ 0 g [ [ [ 1 %%E@W% HHLER | BYOOT
0GT 0¢ | 05 | 0¢ | 09 S m 5
AE A /_ e \m MW % : ﬂ M_\ v 002 t .
g B m L2 | LAL 4G N ON
£ I oW O W OH OB SoS-qd T L] | W™

FAHE T A I RSl E - st by B PR

SRS EIOHCER )

_12_



(v/1)

00T 00€
s 7T A A A T m
o |
= 1
() ol Y !
() 7 '
S H
= ™ A
NS
- 00¢T
0¢ 06T = IX{0T0XZX (00 T+0€ T)+ (00 TX0E T)}| M | THLE (44
c9 90 = TX (0G°0X00 TX0E T)| W NN = _
()
()
0¢ 0€C = TX {0 0X2x (00 T+0€ 1)} | BT <
08 08T = TX (02 TX0GT)| M | (W0T=3) Iy
"% ¥ Y IR Y| 1 [\ g P [y %]z "N
i
()
™A
Do
a1
(e}
T ero0 = PP 0X0€ 0] W | JHLL (4
<0 €00 = 052 0X TV 0X0¢ 0] W NN =
00€
1€ 1£°0 = 052 0XZxX (W7 0+0€ 0)| W i
"% ¥ Y IR Y| 1 W O PEETEE (Y %1 N
0 2L RIEHET = [EN=c3 [ B 2L Il SO S N P S e
: S RER T s A A A ]

_13_



=
=
DD
8
71 10 7170 u Lgle|
00L
71 10 710 00 TX02 0X0L0] W |[#Mid{—(s~c
T R ¥ Y 12 [Tk | 94 E k] SEMRE YR Y v oN
000T X
00€ 00¢T 00€ 7
% ......... _OON oﬂO\ o oﬂoow oﬂO\ o oﬂOOo\ ----.......w
1 a ’ “
S |3 ya |
(= J m
TG |
87 10 87 0 6°0/76 0-2G T| I [(GATF) w3
0097 X
76 10 760 T (0% 0X00 TX0E T-0T 0XG9°0-¢5 1)| W M 0061
¢S i1 25T TX (0S°0X09 TX06T)| W [
"% ¥ Y IR Y1 E O (L) W se sl %le N
LRI = d = BB IR e T OV T B
0 =L 51 %%\TWH%H/]\M% IR W ERE T

(v /72)

_14_



0€P 059
Sd3d

NHESTEIEE ORI LR
L —LHES

(v /¢)

m M”N \C m HH.WH_ME
T G | : R i 3
o (e - 6°0/92°0-68°0 I |(@F) LT } e | THEE ¥ g
0 & €€ = €°¢ W T AT | W |
LV 10 Ly'o = 0€"€X92°0Xxg5°0| W @ M Wi HIE:
9¢ 10 9¢0 = 08 €X0¢ 0XGG 0] W TEW A ;mﬁ Eﬁmw;
€8 10 €870 = 0€€X9V 0XxG5 0] W [T (FHEFIWEHAR) W ¢¢ =T [HEHgH
T % ¥ 4 12 [Wyvh| % % Ml CHHEAE Z[1 N
EE [TEZ T EE O B WV B %4

_15_



00¢
M7 9e1
<
% pre
00 ¢ 4 = 00%=H G219 |1ds] 2 (WG9 ¢ PAK) ¢ T X (HFuwes) 05 ddd  EAER
"% ¥ Y IR Y| T W OHG (R EEEW WY %]z "N
0ST
TrdZ 001
<
S
00 T 1 = 0GT=H 00T ¢ |1d&] 2
T O%| > Y 1 [T0s] W ¥ 1 B % BHBEYE W w1 N
2 = =] d = HXEIE
o REIEHHICH i
(v /v)

I RO R B

_16_



